

Corrigé des exercices n° 38 et 39 pg 77

• N° 38 et 39 pg 77

38

1.  $D = 5x^2(x - 3) - 6x(x + 7)$   
 $= x \times 5x(x - 3) - x \times 6(x + 7)$   
 $E = (x + 3)(6x + 2) - (x + 3)^2$   
 $= (x + 3)(6x + 2) - (x + 3)(x + 3)$   
 $F = (3x + 2)(x + 5) + 3x + 2$   
 $= (3x + 2)(x + 5) + (3x + 2) \times 1$   
 $G = (x + 1)(4x + 5) - x - 1$   
 $= (x + 1)(4x + 5) - 1 \times (x + 1)$

2.  $D = x(5x(x - 3) - 6(x + 7))$   
 $= x(5x^2 - 15x - 6x - 42) = x(5x^2 - 21x - 42)$   
 $E = (x + 3)(6x + 2 - x - 3) = (x + 3)(5x - 1)$   
 $F = (3x + 2)(x + 5 + 1) = (3x + 2)(x + 6)$   
 $G = (x + 1)(4x + 5 - 1) = (x + 1)(4x - 4)$

39

